
B. Vertebrae 

C. Clavicle 

D. Sternum 

34. How many vertebrae does an adult spine have? 

A. 33 

B. 26 

C. 28 

D. 37 

35. The following muscles assist in raising the mandible, except: 

A. Anterior fibers of temporalis 

B. Posterior fibers of temporalis 

C. Masseter 

D. Medial pterygoid 

36. What tendons form the lateral border of the anatomical snuffbox? 

A. Abductor pollicis longus 

B. Extensor pollicis longus 

C. Extensor pollicis brevis 

D. A and C 

E. A and B 

37. What is the deepest thenar muscle? 

A. Abductor pollicis longus 

B. Abductor pollicis brevis  

C. Flexor pollicis brevis  

D. Flexor pollicis longus 

38. The surgical No Man’s land is located on what zone? 

A. Zone I 

B. Zone II 

C. Zone III 

D. Zone IV 

39. Band of deep fascia that holds the long flexor tendons in position at the level of the wrist.  

A. Palmar aponeurosis 

B. Tendon sheath 

C. Flexor retinaculum 

D. Interosseous membrane 

40. The following are true about the carpal tunnel, except: 

A. It transports the ulnar nerve and the finger flexor tendons from the forearm to the 

hand. 

B. The carpal bones border the carpal tunnel posteriorly. 

C. It is proximally defined by the pisiform and the scaphoid tuberosity 

D. It is distally defined by the hook of the hamate and the tubercle of the trapezium 

41. The extensor retinaculum is attached laterally at the:  

A. Trapezium 

B. Scaphoid tuberosity 

C. Base of the first metacarpal 
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